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QUESTION 1

The SetToFlag node creates separate flag fields for values of a categorical field. It must be followed by an Aggregate
node in order to aggregate the flag fields on a grouping field such as transaction records grouped to customer\\'s
records.

A. True

B. False

Correct Answer: B

QUESTION 2

Which method would be used on the Merge node in order to combine a file containing 100 products and a file containing
50 suppliers and retain only the matching records?

A. Inner join

B. Anti-join

C. Full outer join
D. Partial outer join

Correct Answer: A

QUESTION 3

The CRISP-DM Process Methodology is a linear process.
A. True

B. False

Correct Answer: B

QUESTION 4

The Matrix node is used to examine the relationship between two categorical fields.
A. True

B. False

Correct Answer: A
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QUESTION 5

Which node can be used to impute (estimate) missing values?
A. Data Audit node

B. Balance node

C. Filler node

D. Reclassify node

Correct Answer: A
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